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Question Number : 1 Question Id : 3210111376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following conditions is the specific gravity of urine very low?

Options:
, w Diabetes mellitus type 1

- Diabetes mellitus type 2

= % Gestational diabetes mellitus

4 « Diabetes insipidus

Question Number : 1 Question Id : 3210111376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 2 Question Id : 3210111377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which of the following conditions is Bence Jones protein found in urine?
Options:

1 % Leukemia



> % Anaemia

- » DBleeding disorder

4 « Multiple myeloma

Question Number : 2 Question Id : 3210111377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 3210111378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Normal renal threshold for glucose is:
Options:

i« 150-170 mg/dl]

o % 70-110mg/dl

s u 90-140 mg/dl

4 ® 70-140 mg/dl

Question Number : 3 Question Id : 3210111378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, » 150 - 170 mg/d|




, % 70 - 110 mg/d

. % 90 - 140 mg/d

, % 70 - 140 mg/d

Question Number : 4 Question Id : 3210111379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a crystal that is found in acidic urine?

Options:
1+« Sodium urates

- % Calcium carbonate
= % Ammonium biurets

4 B Amorphous phosphates

Question Number : 4 Question Id : 3210111379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 5 Question Id : 3210111380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

frfofa & & Fia-ar wlewor g5 & e $r safeufa & aar e g2
Options:

, % OTT qEToT




5 » SefEFE TyEoT

Question Number : 5 Question Id : 3210111380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following tests detects the presence of glucose in urine?

Options:
1 # Heat test

> % Hay'stest
= « DBenedict’s test

4 % Fouchet’s test

Question Number : 6 Question Id : 3210111381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following tests detects the presence of blood in a stool sample?

Options:
1 % Sudan Black B test

> « Benzidine test

— Sulphanilic acid test

4, = Sulfosalicylic acid test

Question Number : 6 Question Id : 3210111381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 3210111382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 3210111382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The presence of charcot leyden crystals in stool indicates:
Options:

, w Dbacterial dysentery

- « amoebiasis

- u Intestinal haemorrhage

, % indigestion

Question Number : 8 Question Id : 3210111383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is a pathogenic parasite?
Options:

1 % Entamoeba coli



> % Endolimax nana
%z % Jodamoeba butschlii

, « Entamoeba histolytica

Question Number : 8 Question Id : 3210111383 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT § O SIF-01 T AT W= g7

Options:
| % TSR Fes
, « USICSHEH AT

FTATSOAET FRAHTS

=z &

., v TE¥HEET Frefefer

Question Number : 9 Question Id : 3210111384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following conditions is the appearance of Cerebrospinal fluid (CSF) cloudy?

Options:
1 % Viral infection

- % Fungal infection

= « DBacterial infection

4 % Normal

Question Number : 9 Question Id : 3210111384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 3210111385 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The complete absence of semen ejaculation is called:
Options:

, w Oligospermia

- % Hypospermia

- u Hyperspermia

4 Aspermia

Question Number : 10 Question Id : 3210111385 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 3210111386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Increased eosinophil in sputum sample is associated with:
Options:

, % Pyogenic infection



> « asthma

- » inflammatory condition

4 % tuberculosis

Question Number : 11 Question Id : 3210111386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 12 Question Id : 3210111387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following are features of transudates?

1. Specific gravity below 1.018
ii. Specific gravity above 1.018
iii.  Proteins less than 2.5 g/dl
iv. Bacteria usually present
Options:
1 % iandii

- « 1and iii
%z % iiand iii

4 % iiandiv

Question Number : 12 Question Id : 3210111387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 3210111388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements are true about synovial fluid examination findings?

L Urate crystals are found in gouty arthritis.
ii. Cholesterol crystals are found in Rheumatoid arthritis.
iii.  Rhomboid calcium pyrophosphate crystals are found in gouty arthritis.
iv. Cholesterol crystals are found in gouty arthritis.
Options:
1 « iandii

- % 1iand iii
z % iiandiv

4 % iandiv

Question Number : 13 Question Id : 3210111388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 14 Question Id : 3210111389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is true regarding semen analysis?
Options:

, = Absence of fructose results in completely motile sperm.

- o Absence of fructose results in completely immotile sperm.

- » Glucose gives energy to spermatozoa.

4 w Sucrose gives energy to spermatozoa.

Question Number : 14 Question Id : 3210111389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 3210111390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following statements are true regarding stool examination?

i, Amoebic dysentery is caused by Entamoeba histolytica.
ii. Amoebic dysentery is caused by Entamoeba coli.
iil. Steatorrhea is caused by Giardia Lamblia.
1v. Steatorrhea is caused by Iodamoeba.
Options:

1 % iandii
> o 1and iii
z % iandiv

4 % ilandiii

Question Number : 15 Question Id : 3210111390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 3210111391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following are causes of pathological polyuria?

1. Increased fluid intake
ii. Diabetes mellitus
iii.  Diabetes insipidus

1v. High protein diet



Options:
1 % iandii

> % 1and iii
z % iandiv

4 v iiandiii

Question Number : 16 Question Id : 3210111391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 3210111392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 3210111392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following are the CSF findings of pyogenic meningitis?

L Lymphocytes are predominant
ii. Neutrophils are predominant
iii. Protein is normal
iv. Protein is increased

Options:

1 % iandii

> o il and iv
3 % iii and iv

4 % iandiv

Question Number : 18 Question Id : 3210111393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Serum lacks

Options:
1 % sodium

> % potassium
% % calcium

4 fibrinogen

Question Number : 18 Question Id : 3210111393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 19 Question Id : 3210111394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
sample is used for blood gas analysis.

Options:
1 % Venous blood

- « Aurterial blood
= % Serum

4 % Plasma

Question Number : 19 Question Id : 3210111394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 3210111395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following anticoagulants is ideal for platelet count?

Options:
1 % Sodium fluoride

- % Potassium oxalate



= % Sodium oxalate

4 + Ethylenediaminetetraacetic acid (EDTA)

Question Number : 20 Question Id : 3210111395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 21 Question Id : 3210111396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
During embryonic life blood cells are produced by:

Options:
1 % bone marrow

> % liver
= % Spleen

4 volk sac

Question Number : 21 Question Id : 3210111396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 22 Question Id : 3210111397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

method is useful for estimation of haemoglobin in blood banks to screen donors for fitness.
Options:
|« Specific gravity
> % Gasometric

= % Iron estimation

4 # Cyanmethemoglobin

Question Number : 22 Question Id : 3210111397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 23 Question Id : 3210111398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The acidic component of Romanowsky group of stain is:

Options:
1 8 Arzure A

> % Methylene blue



= % Azure B

4 + Eosin

Question Number : 23 Question Id : 3210111398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 3210111399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is used for estimation of PCV (Packed Cell Volume).

Options:
, w Helige tube

> % Khan tube
z « Wintrobe’s tube

4 % Westergren’s tube

Question Number : 24 Question Id : 3210111399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 3210111400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In microcytic hypochromic anaemia:

Options:
1 % MCYV increases

> « MCV decreases

- % MCV remains within the normal range

4 % MCHC increases

Question Number : 25 Question Id : 3210111400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 26 Question Id : 3210111401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Koilonychia is the clinical feature of anaemia that presents itself due to:
Options:

, % Vitamin B12 deficiency

- u folate deficiency



- o Iron deficiency

4 % membrane defect

Question Number : 26 Question Id : 3210111401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 3210111402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following are the general features of haemolvtic anaemia?

i.  Decreased haptoglobin

ii.  Increased haptoglobin
iit.  Increased lactate dehydrogenase (LDH)
iv.  Decreased lactate dehydrogenase (LDH)

Options:
| « iand iii

> % iandiv
%z % iiand iii

4 % iiandiv

Question Number : 27 Question Id : 3210111402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 28 Question Id : 3210111403 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which of the following cells is the Mveloperoxidase stain positive?
Options:

, « Myeloblast

> % Lymphoblast

- » Small lymphocyte

4 % Large lymphocyte

Question Number : 28 Question Id : 3210111403 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 3210111404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Neutrophil alkaline phosphatase score increases in:

i.  Leukemoid reaction

ii.  Polvcythemia vera
iii.  Chronic myeloid leukemia
iv.  Chronic lymphoid leukemia

Options:
| « iandii

- % iand iii
% % 1ii and i1

4 % iiandiv

Question Number : 29 Question Id : 3210111404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 30 Question Id : 3210111405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following statements are true?

L Haemophilia A is due to factor VIII deficiency

ii. Haemophilia A is due to factor X deficiency

iii.  Haemophilia B is due to factor VII deficiency

iv. Haemophilia B is due to factor IX deficiency
Options:

1 % iand i
- o 1andiv
% % ii and iii

4 % iiandiv

Question Number : 30 Question Id : 3210111405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 3210111406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 3210111406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Decreased lobulation of neutrophils, that is usually bilobed neutrophils, are seen in:

Options:
, » Megaloblastic Anaemia

o o Pelger-Huet Anomaly
5 w Alder-Reilly Anomaly

, % Chediak-Higashi Syndrome

Question Number : 32 Question Id : 3210111407 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
RBC without central pallor region, that is spherocytes, are usually seen in:

Options:
, » Megaloblastic Anaemia

- » Iron deficiency Anaemia
- o Immune Haemolytic Anaemia

4 % Thalassemia

Question Number : 32 Question Id : 3210111407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 33 Question Id : 3210111408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following values are required for the calculation of MCV?

1. RBC count

ii. Haematocrit

iii.  Haemoglobin

iv. Red blood cell distribution width (RDW)
Options:
1 « iandii

- % iand iii
- % iandiv

4 % 1iand i1

Question Number : 33 Question Id : 3210111408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 34 Question Id : 3210111409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the site of aspiration for bone marrow in children from birth to two yvears?

Options:
1 % Sternum

5 w Anterior superior iliac spine

- » Posterior superior iliac spine

4 « Tibial tuberosity

Question Number : 34 Question Id : 3210111409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 35 Question Id : 3210111410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is required to preserve the structure of cells with minimum alteration from the living cells.

Options:
1 % Denaturation

- « Fixation

5 w Clearing



4 w Dehydration

Question Number : 35 Question Id : 3210111410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 36 Question Id : 3210111411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is used as a decalcifying agent?

Options:
1. Aqueous nitric acid

> % Glutaraldehyde

% % Glacial acetic acid

4 % Formalin

Question Number : 36 Question Id : 3210111411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 37 Question Id : 3210111412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is used as a dehvydrating agent in tissue processing?
Options:

, = Xylene

» « Ethanol

- w Liquid paraffin

4 % Paraffin wax

Question Number : 37 Question Id : 3210111412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 38 Question Id : 3210111413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Paraffin wax with a melting point of °C is used for impregnation process in histopathology lab.

Options:
, ® 20-25



Question Number : 38 Question Id : 3210111413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 20-25
o % 32-37
- 40-42

g W 56-82

Question Number : 39 Question Id : 3210111414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is used for recovery of dried tissues?

Options:
1 % Formalin

- % Chloroform

-  Formol-glycerol

, # Glyceraldehyde

Question Number : 39 Question Id : 3210111414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 40 Question Id : 3210111415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mayer’s egg albumin is used as a/an:
Options:

, w» embedding media

> u dehydrating agent

= « tissue adhesion

4 % Clearing agent

Question Number : 40 Question Id : 3210111415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 41 Question Id : 3210111416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Harris hematoxylin is dissolved in:
Options:

1 ®% water

- % ether
= « absolute alcohol

4 % alcoholic ammonia

Question Number : 41 Question Id : 3210111416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 42 Question Id : 3210111417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 42 Question Id : 3210111417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Prussian blue reaction is used to identify pigment

Options:
1 % formalin
> « haemosiderin

% % bilirubin

4 % melanin

Question Number : 43 Question Id : 3210111418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 43 Question Id : 3210111418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Carmine staining technique is used to reveal the presence of in the tissue.

Options:
, % Dprotein

lipid
glycogen

mucopolvsaccharides

Question Number : 44 Question Id : 3210111419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
stain 1s used to reveal the presence of Mycobacterium leprae in paraffin sections.

Options:
1 % Crocott’s hexamine silver

- % Alizarin Red
= % Von Kossa

4 « Wade Fite Faraco

Question Number : 44 Question Id : 3210111419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 45 Question Id : 3210111420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following chemicals are used for freezing in a cryostat?

1. Carbon dioxide
ii. Nitrous oxide
iii.  Liquid nifrogen
iv. Liquid carbon

Options:

1 % iandii

> o 1and iii

% % ii and iii

4 % iandiv

Question Number : 45 Question Id : 3210111420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 46 Question Id : 3210111421 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hybridomas are produced by:
Options:

, + SPleen cells and myeloma cells

> % spleen cells and liver cells

- w liver cells and myeloma cells

4 w lymphocytes and neutrophils

Question Number : 46 Question Id : 3210111421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
gefeEAE Fas o BT e s 2

Options:

| T BT i A

. w TONET HIREHT HR THa HIRHT
. » TFd FIREHT AR ASAT FIRIFT

= ferrrrase AR et

Question Number : 47 Question Id : 3210111422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements are true about fluorescent labels?
Options:

, « Fluorescein isothiocyanate imparts apple green colour

> w Fluorescein isothiocyanate imparts apple red colour



- w Rhodamine B gives apple green colour

, » Rhodamine B gives blue colour

Question Number : 47 Question Id : 3210111422 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fRT & 4 woRide a9 & 9% & S99 Fu9 7 &7

Options:

FRRAA HBEIRTEEAE ¥ SH &0 T J& Hl ¢

1. ¥

, TR MR 39 S @ &7 96 R §

.

. x USTASS & AT 6T &0 T & §

, » USTHES & e T a7

Question Number : 48 Question Id : 3210111423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 48 Question Id : 3210111423 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Blocks are trimmed by microtome while sectioning for electron microscopy.

Options:
1 ® rotary

> w Sledge



5 u freezing

4 « ulira

Question Number : 49 Question Id : 3210111424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
technique is used for preparation of histopathology specimen for museum.

Options:

1 Kaiserling

5 % Mayer’s

= % Pearson’s

4 % Fouchet’s

Question Number : 49 Question Id : 3210111424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 50 Question Id : 3210111425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What causes curling of paraffin embedded tissue sections as they are cut?

Options:
1 % Blunt knife
- % Loose knife

-  Dirt on the knife edge



4 % Loose block

Question Number : 50 Question Id : 3210111425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 51 Question Id : 3210111426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is also called ‘juvenile diabetes’.

Options:
;% Diabetes insipidus

5 of Type 1 diabetes mellitus

— Type 2 diabetes mellitus

4 % Gestational diabetes mellitus

Question Number : 51 Question Id : 3210111426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 52 Question Id : 3210111427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Peptide linkage of proteins reacts with biuret reagent and gives colour.

Options:
, » Yyellow

red

P
®

- % green

4 « purple

Question Number : 52 Question Id : 3210111427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 53 Question Id : 3210111428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Jafte’s reaction is used for the estimation of serun

Options:
1 « creatinine

> #® urea

5 % uric acid



4 % cholesterol

Question Number : 53 Question Id : 3210111428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 54 Question Id : 3210111429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Amylase is the enzyme which splits:
Options:

, w protein

, % lipid

5 o starch

4 ® urea

Question Number : 54 Question Id : 3210111429 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 55 Question Id : 3210111430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which one of the following hormones is secreted by the posterior pituitary gland?

Options:
1 % Growth hormone

- % [Ihyroid stimulating hormone

% % Prolactin

4 + Antidiuretic hormone

Question Number : 55 Question Id : 3210111430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 56 Question Id : 3210111431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following diseases/clinical conditions may Respiratory Acidosis occur?

Options:
1« Asthma

- % Diabetes mellitus

- w Encephalitis



, w Hepatic coma

Question Number : 56 Question Id : 3210111431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 57 Question Id : 3210111432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
test 1s used to measure glomerular filtration.

Options:
1 % Urine ammonia

- % Serum osmolarity

- % Urine osmolarity

4 + Creatinine clearance

Question Number : 57 Question Id : 3210111432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 58 Question Id : 3210111433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which type of bilirubin increases in physiological jaundice?
Options:

1 % Direct bilirubin

- « Indirect bilirubin
= % Conjugated bilirubin

4 % Urinary bilirubin

Question Number : 58 Question Id : 3210111433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 59 Question Id : 3210111434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following enzymes elevates after acute myocardial infarction?
Options:

i Creatinine kinase (CK)

- » Alkaline phosphatase (ALP)

- » Acid phosphatase (ACP)



, w Alanine transaminase (ALT)

Question Number : 59 Question Id : 3210111434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 60 Question Id : 3210111435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a major cation of the intracellular fluid?

Options:
1 % Sodium

> « Potassium
%z % Chloride

4 % Iodine

Question Number : 60 Question Id : 3210111435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 61 Question Id : 3210111436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

and with slit are used in spectrophotometre to get monochromatic light.
L Prism
ii. Cylinder
iii.  Diffraction grating
iv. Lense
Options:
1 % iandii

- « 1and iii
-z % iandiv

4 % iiandiv

Question Number : 61 Question Id : 3210111436 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ay 2T (HRD SIN) & T1Y AAFAREF TH 9og Fa & o7 NFameHeT &

39T BT Fmar ¥

i B

ii. A=

iii. RBwers afET

iv. o
Options:

L ow 0 ARG

. | ATl
- w i ARV
4 % i 3R v

Question Number : 62 Question Id : 3210111437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following hormones does the thyroid gland produce?

i. Thyroxine
ii. Triiodothyronine
iii.  Thyroid stimulating hormone
v, Iodine
Options:
1 « iandii

- % 1iand iii
z % iandiv

4 % 1ii and iii

Question Number : 62 Question Id : 3210111437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 63 Question Id : 3210111438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
are the lipoproteins responsible for transportation of dietary fat.

Options:
i ® VLDL

> % LDL



- % HDL

4 « Chylomicrons

Question Number : 63 Question Id : 3210111438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 64 Question Id : 3210111439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Deficiency of vitamin during pregnancy causes neural tube defects.

Options:

Question Number : 64 Question Id : 3210111439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 65 Question Id : 3210111440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 65 Question Id : 3210111440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hypokalemia is observed in:
Options:

, + Cushing’s syndrome

> % Addison’s disease

- % Mineralocorticoid deficiency

, % Glucocorticoid deficiency

Question Number : 66 Question Id : 3210111441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following are the causes of Metabolic Acidosis?

1. Uncontrolled diabetes mellitus
ii. Starvation
iii.  Airway obstruction
iv. Pulmonary disease
Options:

1 « 1and i



- % 1and iii
z % iandiv

4 % iiandiv

Question Number : 66 Question Id : 3210111441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 67 Question Id : 3210111442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is one of the examples of tumour markers.
Options:

, « Alfa fetoprotein

> w Haptoglobin

=z % Hemofexin

, % Cerulloplasmin

Question Number : 67 Question Id : 3210111442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 68 Question Id : 3210111443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

is an example of wet sterilisation method.
Options:
1 % Hot air oven

> « Autoclave

- » Candle jar

, % Meclntosh and Filde’s jar

Question Number : 68 Question Id : 3210111443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 69 Question Id : 3210111444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Blood agar is an example of media.
Options:
1 % Basic

> « Enriched
%z % Selective

4 % Transport

Question Number : 69 Question Id : 3210111444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 70 Question Id : 3210111445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If urease test is positive, media becomes in colour.

Options:
. B areen

> % blue
5o Pk

4 u Yyellow

Question Number : 70 Question Id : 3210111445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following bacteria shows darting type of motility?
Options:

1 « Vibrio cholerae

> w Shigella

=z % Salmonella

, w Proteus vulgaris
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Which of the following is an example of beta haemolytic streptococci?
Options:

| Streptococcus pyogenes

5 # Streptococcus pneumoniae

- u Streptococcus viridans

, % Streptococcus vulgaris
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is an example of an obligate aerobe.
Options:
, » Campylobacter jejuni

- % Clostridium tetani

5  Pseudomonas aeruginosa

4 % Streptococcus pyogenes
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is an example of round or oval bacteria.

Options:
, « Staphylococci

> % Vibrio cholera

5 w Spirillum minus

4 % [Ireponema pallidum
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Diseases caused by vectors are called:

Options:



1 % ZOOnoses

o  arthropod borne

= % water borne

4 % food borne
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In gram staining procedure and are used in equal proportion as decoloriser.
1 distilled water
ii. 935% alcohol
iii.  acetone
iv. ether
Options:
1 % iandii

> « 1l and iii
= % 1iland1v

4 % iandiv
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Which of the following devices are used for attaining anaerobic atmosphere?

L. Hot air oven
ii. Candle jar
iii.  McIntosh and Filde’s jar
iv. Inspissator
Options:
1 % iandii

> % 1and iii
-z % iandiv

4 v iiandiii
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Which of the following are spirochetes?

i. Leptospira
ii. Malaria
iii. Microfilaria
iv. Borrelia
Options:
1 % iandii

- % 1iand iii
- % ii and iii

4 « iandiv
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Which one of the following is an enrichment and transport media for Vibrio cholerae?
Options:

. = Iryptone water

5 of Alkaline peptone water

% % Litmus milk medium

4 = Selenite (F) broth

Question Number : 80 Question Id : 3210111455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following are lactose fermenting bacteria?
i. Escherichia coli

ii. Salmonella sp.

iii.  Proteus sp.

1v. Klebsiella pneumoniae

Options:
1 % iandii

- % 1iand iii
3 o 1andiv

4 % ilandiii
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Carbon dioxide enriched atmosphere is required for the growth of and

i.  Neisseria gonorrhoeae
ii.  Escherichia coli
iii.  Pseudomonas aeruginosa

iv.  Streptococcus pneumoniae



Options:
1 % iandii

> % 1i and iii
z o iandiv

4 % iiandiv
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Question Number : 82 Question Id : 3210111457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements regarding catalase test are true?

L Staphylococcus species are used as positive control.
ii. Staphylococcus species are used as negative control.
iii. Streptococcus species are used as positive control.
iv. Streptococcus species are used as negative control.
Options:
1 % iandii

- % 1iand iii
3 o iandiv

4 % iiandiv
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which one of the following causes typhoid fever?

Options:
| + Salmonella species

> % Shigella species
% Streptococcus species

i

4 » Pseudomonas species

Question Number : 83 Question Id : 3210111458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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is an example of gram positive bacilli.
Options:

, « Corynebacterium

- u Streptococci

- u Staphylococci

4 % Klebsiella
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

=T # 9 7 a a\-gTc7s 38 1 v 3aEr 22

Options:

1_.;%%3%

Question Number : 85 Question Id : 3210111460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The immunoglobulin which provides mucus membrane protection is:
Options:

L I

> % 126

- x 1gM

4%315‘5
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Which of the following cells produce antibodies?
Options:

, w Neutrophils

> w I lymphocytes

3 « Plasma cells

, » DBasophils
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The simplest antibody has a shape.
Options:

1% V
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hypersensitivity is also called “anaphylactic’.

Options:



« Cytotoxic

> « Immediate

% Immune complex

» Delayed
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Smaller chains of immunoglobulins are called:

Options:
, % heavy chains

- o light chains

= % hard chains

4 % smooth chains
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Ring test is an example of under serological reactions.

Options:
| + Drecipitation test

- % agglutination reaction

- u complement fixation test

, % Dpassive agglutination test
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are the tissue macrophages.

Options:



; = Monocytes

5 of Histocytes

- » Lymphocytes

4 % Basophils
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is an example of acute phase protein.

Options:
1 % NK cells

5 o Creactive protein

- u Lipoprotein

4 % HDL
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Resistance to infections that an individual possesses by virtue is called:

L Innate immunity
ii. Native immunity
iii.  Acquired immunity
iv. Adaptive immunity
Options:
1 « tandii

> % 1iand iii
z % iandiv

4 % 1iiand iii
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Which of the following sentences are true?

L In active immunity immunological memory is present.
ii. In passive immunity immunological memory is present.
iii.  Negative phase may occur in active immunity.
iv. Negative phase may occur in passive immunity.

Options:

1 % iandii

> « 1and iii
= % iiand iii

4 % iiandiv
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Which of the following sentences are true?

L ‘H’ antigen used in Widal test is flagellar.

ii. ‘H* antigen used in Widal test is somatic.

iii. ‘O’ antigen used in Widal test is flagellar.

iv. ‘O’ antigen used in Widal test is somatic.
Options:

1 % iand iii
> o iandiv
z % iand i

4 % iiand iii
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Which of the following statements are true regarding viruses?

L They are inert in extracellular environment.

ii. They are inert inside the living cells.

iii.  They replicate only in living cells.

iv. They replicate only in extracellular environment.
Options:
1 % iandii
> o 1and iii

- % iiandiii

4 % iiandiv
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Which of the following are diseases that are caused by viruses? These viruses primarily affect the nervous system.

i.  Poliomyelitis
ii.  Influenza
iit.  Bronchial pneumonia
iv.  Rabies
Options:



1 % iandii

- % iand iii

s

=  i1andiv

4 % iiandiv
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Which of the following is true regarding monoclonal antibodies?
Options:

| « They are derived from one type of immunoglobulin producing cell.

- % They are derived from many types of immunoglobulin producing cell.

5 % They have different types of heavy chains.

4 % They have different types of light chains.
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Interferons are:

i. low molecular weight proteins

ii. made and released by lymphocytes
iii.  high molecular weight proteins

iv. made and released by platelets

Options:
, « iandii

> % iandiv
%z % iiiand iv

4 % iiandiv
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is true regarding natural killer cells?

Options:
, w They are specific for any one virus.

5 w They are active with prior exposure to virus.

- % [Ihey are enhanced by exposure.

4  They are active without prior exposure to virus.
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Question Number : 101 Question Id : 3210111476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which vessels carry carbon dioxide rich blood from all parts of the body back to the heart?

Options:
, = Capillaries

o o Veins

5 % Artery

4 % Ventricles

Question Number : 101 Question Id : 3210111476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 102 Question Id : 3210111477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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The urine consists of urea.
Options:

i ® 1%
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Who won the 2018 men’s Ballon d’Or Award?
Options:

1 % Mohamed Saleh

> % Cristiano Ronaldo
%z % Lionel Messi

4 « Luka Modric
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Question Number : 104 Question Id : 3210111479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When is “International Day of Yoga™?

Options:
1. & 21 June

21 July
22 May

22 April

Question Number : 104 Question Id : 3210111479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 3210111480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
NITI Aavog was formed in the vear:

Options:
1. ® 2014

> % 2013



Question Number : 105 Question Id : 3210111480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT TIET & 98T a9 H &7 714 o
Options:

% 2014

. % 2013

- % 2016

g 2015

Sub-Section Number: 2
Sub-Section 1d: 32101147
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 3210111481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word from the alternatives which has analogous relation to the given words:

Adrenal. pituitary, Thyroid, ?
Options:
1« Pancreas

~> % Liver
5 % Lungs

LT Heart

Question Number : 106 Question Id : 3210111481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 107 Question Id : 3210111482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If certain code language MEDICINE is the coded as ‘EMIDICEN’, then what would be the code for “BHOPAL’ in that
code language?

Options:
, + HBPOLA

> % HBLCGA
5 % POBAGC

4 % AOCESU

Question Number : 107 Question Id : 3210111482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ITE TF IS 99T # MEDICINE &F 'EMIDICEN' = s H ffeg Frar Sar ¢, o, 39 s (9w &
'BHOPAL' T #IZ &7 gem?
Options:

. v HBPOLA
., « HBLCGA
- = POBAGC

. = AOCESU

Question Number : 108 Question Id : 3210111483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sanjana is sister of Richa, How is Richa’s father’s mother’s daughter related to Sanjana?

Options:



Sister
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.

Mother
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Question Number : 108 Question Id : 3210111483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 109 Question Id : 3210111484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 3210111484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many squares are there in the following figure?

|

11
Options:
1 % 12

2 & 15
T 17

g4 19

Question Number : 110 Question Id : 3210111485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following Venn diagram shows information about number of persons who like different types of Chocolates
produced by company ZXYX during a survey in the school LMN

What is the ratio of number of students who like chocolates of type C only to Type A and B but not C?

Options:
1 ® d:3

2.,;'—1].

Question Number : 110 Question Id : 3210111485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1 % 4:3
> 411
z % 3:4
48 1:4

Question Number : 111 Question Id : 3210111486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following figure carefully. There is an analogous relation between the first and second pairs. Choose the

missing figures (I and IT) from the alternatives such that they form pairs

r o ¥ S

£ %
o

Options:

d] 0D
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Question Number : 111 Question Id : 3210111486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 3210111487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the missing term in the following series?

3. 6.24, 144, 1152, 2, 138240
Options:
| % 34560

> % 69120

s o 11520

Question Number : 112 Question Id : 3210111487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Teafoile g@er & Tea e 71 HW

3, 6, 24, 144, 1152,?, 138240
Options:

| = 34560
. % 69120
-« 11520

. = 17280

Question Number : 113 Question 1d : 3210111488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the value of x, where x is a positive integer.
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Options:
1 ® 250
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Question Number : 113 Question Id : 3210111488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. = 250
. w 252
- % 256

4 254

Question Number : 114 Question Id : 3210111489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If BO = 30. EBO = 150, then CBO will be equal to:

Options:

o R 60
= % 100

4 % 120

Question Number : 114 Question Id : 3210111489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e BO = 30, EBO = 150 g, aF CBO & sUsT gem;

Options:

1 90‘



- = 100

. & 120

Question Number : 115 Question Id ;: 3210111490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IS, + AT FTE A @, - F AERT AT g -, x W AERg Far g Ak %, « #
fAsia =ar g, ar Fsfoad o= & 9Rums #2471 gem?
16+3%48%8@5

Options:

T 49

Question Number : 115 Question Id : 3210111490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If § stands for + . @ stands for —, * stands for x, % stands for +,
then what would be the result of the following expression

‘16*3848%8(@5?

Options:

1. ® 45

> o 49

I ® 62

g4 ® 64
Sub-Section Number: 3
Sub-Section I d: 32101148
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 3210111491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



There are three persons denoted by A, B and C. A and B can do a piece of work in 12 days. B and C in 15 days, and C
and A in 20 days. Then how many days B alone can do the same work?

Options:
, = 30days

25 days
5 o 20.days

60 days

Question Number : 116 Question Id : 3210111491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

|« 30 R
 « 25 R
o e PO
s = 60 R

Question Number : 117 Question Id : 3210111492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 2x + 3y = 5 and xy = 1/18, then 8x7 +27¢3 equals:

Options:
, % 110
- ® a0

s % 130

4 o 120

Question Number : 117 Question Id : 3210111492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



afy 2x + 3y = 5 3T xy = 1/18, 4r 8x3 + 27y® ST ¢
Options:

, % 110
- % 130

4 120

Question Number : 118 Question Id : 3210111493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ABC is an equilateral triangle of side 8 cm. Then the length of each altitude is:

Options:
1 % 2./3cm

5> o 4.3 cm
z ® 3./2 cm

4 % 3./3cm

Question Number : 118 Question Id : 3210111493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ABC, 8cm§mmwma@ﬁap%| AT el o @ o9 g
Options:
1 ® Zﬂcm

5 o 4+/3 cm
= ® 32 cm

4 R 3~J§cm

Question Number : 119 Question 1d : 3210111494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The diagonal of a rectangle is 10 cm and it is twice the length of one of the sides. Then the area of the rectangle is:



Options:

25
— cm?

1 ® ‘V{’E
5 % 203 am?
= # 25cm?

i« 253 am?

Question Number : 119 Question Id : 3210111494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

25
2

1 ® \'E
5 % 204/3 cm?
=z # 25 cm?

4 & 25v3 cm?

Question Number : 120 Question Id : 3210111495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The volume of a right circular cylinder whose curved surface area is 2640 cm” and circumference of its base is 66 cm,
is:

Options:

|« 13860 ¢m?

> # 7720 cm?

= # 3465 cm?

4 # 15440 cm®

Question Number : 120 Question Id : 3210111495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

3@ FEcAIT fAUE # WA AT HIfS, Swhr T TaE 7 a6 2640 cm® & 3t zEF amw
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Options:

.« 13860 cm?
- % 7720 cm?
5 % 3465 cm®

4 % 15440 cm?

Question Number : 121 Question Id : 3210111496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
50 square stone slabs of equal size were required to cover a floor area of 98 sq. m. Then the length of each stone slab is:

Options:
1 ® 130 cm

> % 120cm
= o 140 cm

4 ® 125 cm

Question Number : 121 Question Id : 3210111496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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HTRTHAT 5| & Tl T & ToiF I o6 &

Options:
;1 ® 130 cm

> # 120 cm
z « 140 cm

4 % 125 cm

Question Number : 122 Question Id : 3210111497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Two of the side faces of a pyramid are equilateral triangles and the other two side faces are right angled triangles. If
length of each side of the equilateral triangles is 6 m, then the volume of the pyramid is:

Options:
. % 183 m3

5 & 362m?
5 % 60V2m?

4 % 243m?

Question Number : 122 Question Id : 3210111497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, % 183 m?

5  36V2m?
s % 60V2m?

4 % 24V3m?

Question Number : 123 Question Id : 3210111498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zsin oo cos Ol
If —— =x , then ———— equals:
1+ coso+sin o 1+sin o
Options:

1 # 1+x

> # /X
T #® X

44 1-%

Question Number : 123 Question Id : 3210111498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



2 5in o —x, En_ COS EPIEDS %_:

1+coso+sino 1+sino

Options:
1 # T4+ x
z % X
a4v 1 — x

Question Number : 124 Question Id : 3210111499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the top of a 9 m high building. the angle of elevation of the top of a tower is 60 ° and the angle of depression of its

foot is 45° . Then the height of the tower is
Options:

13333111

Question Number : 124 Question Id : 3210111499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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FIOT 45° F| G A Fr F=E T

Options:
1. ® 3V3m

s v 9(V3+1)m

4&-&9”1

Question Number : 125 Question Id : 3210111500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The area of the Polygon is:

Options:
, % notequal to the area of the Histogram
> u equal to the area of the Frequency Curve

- % equal to the area of the Ogive

4 + €qual to the area of the Histogram

Question Number : 125 Question Id : 3210111500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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